K0348_BD
ol A S8 Et B/D

= HY/HE ololx|

H

AFO|
H =

"Elo| Lot /x| gfolof sHe Zols Qleia ERiK]
& 180° EEI‘:|=| = ol el !IxI=Z Sot 3.

NZ &2 &3 th7h T fIRlol 22 + 2 &8,

w1 D 1 X
i
it}
]

il u:l]l-l

=0 M:
2B 18 uag e 2l
etel D: 22, B 3, e

ol
A=

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



(
o=
ol A S8 EI2l B/D
=M
[t}
1 o
-~ 1
i el
~J
J‘ .
1= !
D-O.GZ
-0,04
B
=
a8 : 2 S
T“f
8a]
2 0
FEHS Efl D D1 D2 L L1 L3 B B1 H SW F x 30° NESS Bt
Bt 5=
F12.N F2 2. N
K0348.050410 B 4 M10 10 38 25 20 9 3 6 17 1 8 14
K0348.050510 B 5 M10 10 38 25 20 9 3 6 17 1,3 8 14
K0348.050610 B 6 M10 10 38 25 20 9 3 6 17 1,8 8 14
K0348.0504101 B 4 M10x1 10 38 25 20 9 3 6 17 1 8 14
K0348.0505101 B 5 M10x1 10 38 25 20 9 3 6 17 1,3 8 14
K0348.0506101 B 6 M10x1 10 38 25 20 9 3 6 17 1,8 8 14
K0348.050512 B 5 M12 12 46,8 30 25 10,8 36 8 19 1,3 8 15
K0348.050612 B 6 M12 12 46,8 30 25 10,8 36 8 19 1,8 8 15
K0348.050812 B 8 M12 12 46,8 30 25 10,8 36 8 19 23 8 15
K0348.0505121 B 5 M12x1,5 12 46,8 30 25 10,8 36 8 19 1,3 8 15
K0348.0506121 B 6 M12x1,5 12 46,8 30 25 10,8 36 8 19 1,8 8 15
K0348.0508121 B 8 M12x1,5 12 46,8 30 25 10,8 36 8 19 23 8 15
K0348.050616 B 6 M16 16 604 40 32 144 48 10 24 1,8 15 35
K0348.050816 B 8 M16 16 604 40 32 144 48 10 24 2,3 15 35
K0348.051016 B 10 M16 16 60,4 40 32 144 48 10 24 2,8 15 35
K0348.0506161 B 6 M16x1,5 16 604 40 32 144 48 10 24 1,8 15 35
K0348.0508161 B 8 M16x1,5 16 604 40 32 144 48 10 24 2,3 15 35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



K0348_BD

°
olciA Z2ix| EfQl B/D
E= 20

FEHS Etel D D1 D2 L L1 L3 B Bl H SW Fx30° AlZ et
B =

F1 2N F2 2F. N
K0348.0510161 B 10 M16x1,5 16 604 40 32 144 48 10 24 2,8 15 35
K0348.050820 B 8 M20 20 70 50 35 18 6 12 30 23 20 60
K0348.051020 B 10 M20 20 70 50 35 18 6 12 30 2,8 20 60
K0348.051220 B 12 M20 20 70 50 35 18 6 12 30 3 20 60
K0348.0508201 B 8 M2x15 20 70 50 35 18 6 12 30 23 20 60
K0348.0510201 B 10 M20x15 20 70 50 35 18 6 12 30 2,8 20 60
K0348.0512201 B 12 M20x15 20 70 50 35 18 6 12 30 3 20 60
K0348.070410 D 4 M10 10 38 2520 9 3 6 17 1 8 14
K0348.070510 D 5 M10 10 38 25 20 9 3 6 17 1,3 8 14
K0348.070610 D 6 M10 10 38 25 20 9 3 6 17 1,8 8 14
K0348.0704101 D 4 M10x1 10 38 2520 9 3 6 17 1 8 14
K0348.0705101 D 5 M10x1 10 38 25 20 9 3 6 17 1,3 8 14
K0348.0706101 D 6 M10x1 10 38 25 20 9 3 6 17 1,8 8 14
K0348.070512 D 5 M12 12 468 30 25 10,8 36 8 19 1,3 8 15
K0348.070612 D 6 M12 12 468 30 25 108 36 8 19 1,8 8 15
K0348.070812 D 8 M12 12 468 30 25 10,8 36 8 19 23 8 15
K0348.0705121 D 5 Mi2x15 12 468 30 25 10,8 36 8 19 1,3 8 15
K0348.0706121 D 6 MI2x15 12 468 30 25 10,8 36 8 19 1,8 8 15
K0348.0708121 D 8 Mi2x15 12 468 30 25 10,8 36 8 19 23 8 15
K0348.070616 D 6 M16 16 604 40 32 144 48 10 24 1,8 15 35
K0348.070816 D 8 M16 16 604 40 32 144 48 10 24 23 15 35
K0348.071016 D 10 M16 16 60,4 40 32 144 48 10 24 2,8 15 35
K0348.0706161 D 6 M16x15 16 604 40 32 144 48 10 24 1,8 15 35
K0348.0708161 D 8 M16x15 16 604 40 32 144 48 10 24 23 15 35
K0348.0710161 D 10 M16x1,5 16 604 40 32 144 48 10 24 2,8 15 35
K0348.070820 D 8 M20 20 70 50 35 18 6 12 30 23 20 60
K0348.071020 D 10 M20 20 70 50 35 18 6 12 30 2,8 20 60
K0348.071220 D 12 M20 20 70 50 35 18 6 12 30 3 20 60
K0348.0708201 D 8 M2x15 20 70 50 35 18 6 12 30 23 20 60
K0348.0710201 D 10 M20x15 20 70 50 35 18 6 12 30 2,8 20 60
K0348.0712201 D 12 M20x1,5 20 70 50 35 18 6 12 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



